STATION 1
VOCABULARY

Make sure you know what each of these words mean. If you

know, check the box. If you don’t, ask someone in your group and
write down the definition

[ Potential energy: Stored enecqy

[J Kinetic energy: ene.rm of mohien

[J Law of electric charge: Opposite. charges atrack like. charges epel

[ Source: F(w'\JJLs electneal 5""'33
L] Conductor: & patenal that allbws etectont to €low)

[] Load/Resistor: o, wiatenal thait Charges electrical ene irmts
anvtwer rm enefy "yl

[ Switch: coptroly +he fow of cumrert ( oper switdh — stps cumat
C losed switch —s cucreat will

O Current: fate where electne choye Slows

oast o certarn point

[ Electrical Potential Difference: omount a@rgr\vkiq\ Cmracj et Jeen

) poiaty tHhae el

] Resistance: 0‘\:_5,‘,_ ‘\,\:g\,_ e flow P cucreat 13 Slowed clown
o~ Q

[ Short circuit: e the current 1s 1o high due 4 not enough
eSistance. 10 arwit 3

[ Insulator: o, patesal where electont cannet €log '('\snu:lk

[ Series Circuit:a cirevit wita only wne Pc&\m.xua Ar cvreent s o

[ Parallel Circuit: o ciresit widh mothple paliiany Br cumert Fo €loy

[ Phantom load: Whea «rfl\u\cL; draw ovt ereryy even o€ it aot on

iMN electveel (s

[J Generating electrical energy: whea ot '}‘}‘,( i energy s Frans Rl
ally thavgh o enemtor
Systew)

STATION 2
DRAWING CIRCUIT DIAGRAMS

Draw a circuit diagrams for the following circuits. Be sure to identify
the direction that current is travelling for each scenario.
NAAAANANNANANANNAN

Cloodl)

1. A circuit with a cell that runs a buzzer.
! )
1
L]
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2. A circuit with a battery where an open switch has turned off two
lights placed in parallel to each other.

\r_—" __L

(loadl)
3. A circuit with a battery, a closed switch, two light bulbs, and a clock

all in series with each other.

4. A circuit with an electrochemical cell, a closed master switch, and
three light bulbs all in parallel with each other. Each light bulb has its
own switch that turns it on and off.




STATION 3

CALCULATING OHM’S LAW

Symbol

Unit

Current I

Amperes (A

Voltage \/

wotts (V)

Resistance R

ohms (L)

1. Whatis t@a toaster if a current of 12.5 A

flows through it when it is connected to 120 V?

= SA =V
I1=12 R T

V= 20V

_ 120V
12.54

Re 2 Jaea]

2. Alight bulb has a resistance of 90 (). What ,‘l@iows
20°V7

through the bulb when it is connected to 1

A F001 1. Y . 12V
1-7 B0
ERAYY =[13A

3. The current through aload in a circuit is 2.5 A. If the

voltage is 75 V, what is thf the load?

- 254 - - 75V

?/= 9sv "TT Tz

Rz 7 =‘ 2N
\

4. How muchCelectrical potential differenceis necessary to

generate 9.5 A in a circuit with 2.0 Q?

V=" V= IxR= 954 x2on

195K =W

R=200

STATION 4
ENERGY SOURCES AND TRANSFORMATIONS

Identify the type of energy associated with each of the following
sources:

a. The Sun Solar 2  Fhermal
b. River flow Mednanica |

c. Abattery chemical & electneel P""T’"\““‘\
d. Uranium (\\Y cleacr

e. Food chemica\

ORIGINAL ENERGY FINAL ENERGY
FORM FORM

Photosynthesis 80\0«( c\\cm-\c‘{\

Nuclear power
plant
An oven

aunclear electncal

e\ec'\-:\'c_a\ '\'\'\CFMQ]

List the three key parts of a generator system. Briefly describe
their functions
L Turbine - Steam Jwater /nind Causes P turkine o spia

2 Shalt : Connects The turkine to Hhe gerenise

_ Kinehe enerqy G the shaft is temsfirmed
2. e)f.(\u'd\l' " eleckacal u?.—m TS Jenm‘\\(
What is the difference between a renewable and non-renewable
energy source? Provide at least 2 examples for each.

Renewable €W3t3 1S enerqy fom cenewable resourcay (coan be
“"‘M“‘.’_\ \'cr‘u\'\-\"\l‘*}
ex. Svalight (solw em-.\xS/ wind (mt\d»i“\, Weker (dm)
Noa- reredable hemyy s ereryy i sourees That will rup ovt or
wll aat be Qf\un\uel in our ITfetirnes
ev. Possil 'P\Ie,l.s (con\, jv\sohm.\/ nveleor ((\\)deqr Q;,‘\M
feacksny in povier Plu\h)



